
Lucy has 10 sweets and 
James has 3 

How many sweets do 
they have altogether?  

A bus has 20 
passengers. 

5 people get off. 
`How many passengers 

does it have now? 

In a farm there are 7 
sheep and 5 cows. 

How many sheep and 
cows are there 

altogether? 

Mummy Bear has 10p? 
Daddy Bear has 5p 
Baby Bear has 2p 

How much money do 
the bears have 

altogether? 

In a school sports team 
there are 5 girls and 8 

boys. 
How many children are 

there in the team? 

David has got 5 fish. 
He loses 2 

How many does he have 
left? 

A mini-bus holds 10 
adults, 4 children and 3 

babies. 
How many passengers 

is this altogether? 

Sarah has 10p. 
She spends 8p on 

sweets. 
How much does she 

have left? 

Christopher has 8 
oranges and 5 apples. 
How many pieces of 

fruit does he have 
altogether? 



5 + ? = 10 Take away 2 from 8 How many more than 2 
is 6? 

How many less than 5 is 
1? 

How many more than 5 
is 10? 

How many less than 10 
is 7? 

Add together 5 and 7 

Matthew’s hens laid 7 
eggs, but 3 were 

cracked. 
How many eggs does 

he now have? 

Lola won 6 marbles and 
her friend Oliver won 9. 
How many marbles do 

they have in total? 
 

 


